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Molecular Orbitals Section 5.1
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Symmetry must be such that regions with the same sign or opposite sign
overlap but not regions of both signs
he energies of the orbitals must be similar
hen the energies are significantly different, the overlap is ineffective in
substantially lowering the energy of the electrons

— The distance between the atoms must be short enough to allow for good
overlap
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p orbital interactions
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d orbital interactions Section 5.1/2.1
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Molecular Orbitals Section 5.1

Bonding

Anitbonding

Nonbonding
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Molecular Orbitals (mixing) Section 5.1
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W(Og(s)) = N[cay(2sa) + cop(2sy)]
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W(og(s)) = Nlcap(Zsa) + cotp(2sn) + ccP(2pa) + cap(Zpn)]






